
Y2 – Autumn – Block 2 – Step 12 – Add 2-digit numbers (2) Answers

Question Answer

1

a) 10 ones = 1 ten
b) 14 ones = 1 ten and 4 ones
c) 17 ones = 1 ten and 7 ones

2

7 ones + 5 ones = 12 ones
12 ones = 1 ten and 2 ones
4 tens + 1 ten = 5 tens
47 + 15 = 62

3

a) 11
b) 40
c) 51
d) 40
e) 82
f) 51
g) 41
h) 67
i) 62
j) 86

4
46 + 15 = 61
The little 1 represents the 10 ones that are carried into the tens column as 1 ten.

5

a) 72
b) 37
c) 90
d) 82

6

two digits that sum to 5, e.g. 49 + 13 = 62
Children may have different answers. Possible answers:
19 + 43, 29 + 33, 39 + 23, 49 + 13


